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! semester B.com. Examination, Nov./De c. 2017
{Freshers + Repeaters) (cBcs) (2014-15 and onwards)

LANGUAGE SANSKRIT - I
Yaksha Prasna sangraha, Grammar and comprehension

Time:3 Hours Max. Marks : 7t)

lnstructions : l ) Answer in sanskritlKannada/Engtish.
2) Answer Question l, V and Vl in Sanskrit onty.

1. qdEhi B-d{ 1fud i 
11oNx="frffi}

doo:n d er:Sdddi soa a.rdouo.

Select the correct answer.

1) am. ft{HE-dR ?

+t) rrerqTttR 3lT) {Tq-rqri Ey wr-qt {) Trrer*qr
2) u51ffi qfr q-qt' ffi 7

oq) qqEer ail) ar<qT E) e+s.arqqr {) ErT

3) E*l<r'm' i
e+) ar$a: edT) tfi{: E) Fdtq: {1 rgm,

+) reiturq'lzrqqT m: fro-cnq ?

al1 gfuk: eil) er{a: !) rfi: {) rrctq,

5) arO ErS, Sfr q; sa64p1 ?

ar) rF{d: e{T) TH: E) {rtr{r: {) tq,
G) t-{ a\Bq' trdfr ?

aT) dqsl Bn) T.qT E) Utq il gkuaT

7) BruEmiqrgqi {Ft: "F: ?

el; x-*'urei 3n) td."i E) rroi {) qk+rq:

El.rfr

htt
ps:

//U
niv

ers
ity

ne
ws.in

https://universitynews.in

https://universitynews.in



sN - 127 I fiilt llil ilillilltilillflililI ilr llll

8) fr fiqrdiq{q ?

eli qdq 3{T) *i l) rTt"t: {) ga,

o1 ffi:usrftq?
er) qrql 3rT) gr q; qfu; {y <rq

10) ftfr-nq{ffi i
3T) qri 3rT) qisi E) sr-i {l d{

tt. g*: sflq), Bni fre-d r (2x10-20)

addr ddferi eruEo&.

Answer any two questions.

1) rcrrrnne'frflqqltrfe vq-*i fr-sa t

uJ:er zp ddd euadddl d:od: dzr od udcro.
Write an essay on the development of Mahabharatha.

zl gflrfus f+os, I

a{rrA s.r{-J o\.-?
L/.././U\^, gqLr S., C^l Ve gr,

o

Lamentation of Yudhisthira.

3) qqis$meri {r1q frsa t

crd"d{"1, dd o$d}d o1i e:r udou o.

Summarise the story of Yakshaprasna.

lll. xqruri ydt--flqi stilqrri Ftqr td{ga I (3x4=12)

dlra & dqeddddl erd:a;o ozu o d oxr.

Translate and explain any threeslokas.

1) rre +d-r w} slsd +dr tq qqqfuq 
t

frs.iTqq{iq1d: sQi frsrgCerco: tt

2) {-{ruTiar egqi qr rmdi qT eqrr*rrt I

T-ETfr *1 rr+qH td-€-$nqT F-n[ n

-2-
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3) q qrE srqi qH Hq Tdqfrr-dt I

qwsiig t vwqyfrqeqrfr T. qTq n

4) qBqTrrlT{Tq-{ gkqi-{ Wa, I

dra, vd5nis-qqailqcm tt

5) iicr: eerffii qTfr qq=i Eq: t

qrqTffiqfugciffifiHtq tt

lV. gq\: qrflq): ssqt' t+ggd t

adc: mdraddliodzjr dad cdo,r,"

Explain with reference to context any two sentences.

1)$'Rgimtfti t

2) *d rrqr taqqi itzrgqT: I

3) fu;dT E-gdt qrTrq I

4) B) {RR: qgo: 
I

v. {qa flqvr sm fr-so t

er; urni fr-e-nrTFo-e-q-{rfr fuso t

1) Htr{
2) gfr
3) fiErH

4) qq

s) l{qr{

6) fr-{q1q

7) ft-j
B) rrtl:

sN - 127

(2x4=8)

(5x1=5)
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sn) qflHi q$R*gdE-qfift frsa r

r I t+oernr

z) qr+r)fr

sy fruaft

4) T=Te

s) rqt
6) EIE

a Tlq
8) mwrg

vt. qq qME qB€T swm-qsanFr frqo r

-4- I ililt ilil illlIililtilililt ilil| llll lilt

(5x1=$)

(5x2=10)

qRnq$ +r{uT qFrT rroffi' srTrft-q 1 q. rildq dvr+er, t q, qfi or-fl-R ut ger qrqaqq
Efr qT{ E.erqrq. I d{er qfr-tr qr'r ga: errcftq I ftg, ii frf}rd-(fr€ri 3rqfrf,{q I

lsil er"i?rd: fteqfrEqprr {dEqii T-ildq | ftrqlgmtur q ffi. FdFi xfrrq.
ai 5naq I fu +$g orErqqug{-dr. wffifr wii arv+ui: eilqi I

9Q;tt :

1) 16'S: a,ri"iyiq ftq. ?

2) €: qrqa-{qqfr il-ri fr-qrf 6aer4q ?

g) ds gd{q qTq f*.q. ?

+y frr+Fu-cqqlt q-dffi: fth T-aqrt I

5) t{q.mei 3riu1 ?
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